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FA: 2DHSEZAIL
M T AL
oelr T2 e - B CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Z0NANST A 34,090,745 32,065,508 2,025,237
= 2,987,000
s 340,000
< 6,946,000
Al 9,817,745
T 14,000,000
E2Aa4ze 24,877,000 15,912,000 8,965,000
= 2,500,000
s 340,000
Al 8,037,000
T 14,000,000
c=2 HE - &H 8,000,000 6,000,000 2,000,000
T 8,000,000
1018 SAHEERE B4 8,000,000 4,000,000 4,000,000
T 8,000,000
401 AIEHI L 201 8,000,000 4,000,000 4,000,000
T 8,000,000
01 A& HI 8,000,000 4,000,000 4,000,000
OFIIDIEY SAHEEZ 24 8,000,000
T 8,000,000
SN RS2 KL 6,000,000 4,000,000 2,000,000
TH 6,000,000
S2A I ZUM RIIE2(EX~201) A 6,000,000 4,000,000 2,000,000
T 6,000,000
401 Al HI X 201 6,000,000 4,000,000 2,000,000
T 6,000,000
01 A& Hl 6,000,000 4,000,000 2,000,000
OS8d 2ZUAN RIE2(E2T~R0H) AL 6,000,000
H 6,000,000
CZ2ANES FH & 22l 9,960,000 5,210,000 4,750,000
= 2,500,000
s 340,000
Al 7,120,000
EZ2Y CHHEX B ZH| 50,000 100,000 A50,000
401 A& HIZ 201 Y| 50,000 100,000 A50,000
01 A& HI 50,000 100,000 A 50,000
OE=2Y tWWEX T HH| 50,000
T2HE 2 ANEE RX22 400,000 400,000 0
401 Al HIZ 2018 400,000 400,000 0
01 A& HI 400,000 400,000 0
OE2ME L AMEES SR 22 400,000
WSALD 2R HLAS 400,000 400,000 0
s 200,000
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£ (29l & 2)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Al 200,000
401 AlEHIZL £ 0HY| 400,000 400,000 0
Fag 200,000
Al 200,000
01 Al&EH| 398,000 400,000 A 2,000
OUWSAD 2R HLEAY 398,000
g 199,000
Al 199,000
03 Al& 20| 2,000 0 2,000
OWSESAND 22 HEAY 2,000
Fag 1,000
Al 1,000
Czaedog 89 3,000 3,000 0
201 Bt 3,000 3,000 0
01 AF2 22| H| 3,000 3,000 0
oOkz&eldos &9 3,000
CE2HEUM MaA 29 7,000 7,000 0
201 LBt | 7,000 7,000 0
01 AP 22| d| 7,000 7,000 0
OEZMAEU MEA 2HH S 7,000
MW ZE AXAY 280,000 0 280,000
Fag 140,000
Al 140,000
401 Al HI L £ 0HHI 280,000 0 280,000
Fag 140,000
Al 140,000
01 Al& H| 278,000 0 278,000
O3 ZE EXAY 278,000
Fag 139,000
Al 139,000
03 AlE 21| 2,000 0 2,000
O3 EXAY 2,000
g 1,000
Al 1,000
=2Za U 2L A 249 20,000 0 20,000
201 et 9| 20,000 0 20,000
02 B232%H| 20,000 0 20,000
o2& Y B2 RA 29 20,000
A 25101l RAAY(MEAIY) 4,000,000 500,000 3,500,000
401 Al HI L E0HHI 4,000,000 500,000 3,500,000
01 Al&HI 4,000,000 500,000 3,500,000
OFRECA 23Hel ZHEAY 4,000,000
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2ded E3tiel =4 4,000,000 0 4,000,000
= 2,000,000
Al 2,000,000
401 Al HI K 201 I 4,000,000 0 4,000,000
= 2,000,000
Al 2,000,000
01 A& Bl 3,999,000 0 3,999,000
o=dEH 53 3,999,000
= 1,999,500
Al 1,999,500
03 Al S THHI 1,000 0 1,000
o=Zdag Sztiiel 1,000
= 500
Al 500
Ols €& RIEE2 FZMEAS 800,000 100,000 700,000
= 500,000
Al 300,000
401 AIEHIZL 2 CHEI 800,000 100,000 700,000
= 500,000
Al 300,000
1T AIZHI 798,000 100,000 698,000
O0ls 22 /AFE=2 FRMHEMNY 798,000
= 498,000
Al 300,000
03 Al =2 THHI 2,000 0 2,000
O0lsn L& 2,000
= 2,000
CHEZE T4 200,000 200,000 0
2 2X9 2 REXS It 2 100,000 100,000 0
401 AIEHI L 2 CHYI 100,000 100,000 0
01 A& HI 100,000 100,000 0
o= AZXHA =
&l 100,000
Noties & HE ZZHH 100,000 100,000 0
401 Al HIZ 201 8] 100,000 100,000 0
01 A& HI 100,000 100,000 0
OLED D= E S 100,000
C2HEXA 717,000 502,000 215,000
A2EMA OIEEXN 24 500,000 500,000 0
401 AIEHI L 2 CHYI 500,000 500,000 0
01 A& HI 500,000 500,000 0
oA 02 500,000
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202 A ALY 200,000 0 200,000
401 AlEHIZL 201 Y| 200,000 0 200,000
01 A& H| 200,000 0 200,000

o242 & 200,000
a2 N23 9 15,000 0 15,000
201 LBt ]| 15,000 0 15,000
01 AP 22| H| 15,000 0 15,000

oZniAsd 239 29 3,000

oZiniAsd Zzd 29 12,000
e gREFX 2,000 ,000 0
203 ¥ 2 =&XH| 2,000 ,000 0
03 AIZH =& 25X H| 2,000 ,000 0

O &e YR 2,000
MEHGHE XA 9,149,729 16,093,780 AN6,944 051

= 487,000

& 6,946,000

Al 1,716,729
& MEIER 35,000 ,000 0]
=& A2 35,000 ,000 0
201 Bt 10,000 ,000 0
02 E2=2=24%H| 10,000 ,000 0

orsd MIRS 10,000
308 XHXIGHHM SO0l & 10,000 ,000 0
12 JIEtE Y= 10,000 ,000 0

LEd A8 10,000
401 Al HI L 204 HI 15,000 ,000 0
01 Al&H| 15,000 ,000 0

okLsdsax 15,000
of& 2t e 6,052,729 13,483,780 ANT,431,051

= 487,000

& 3,884,000

Al 1,681,729
EfotE | A2t 60,000 ,000 0
201 gEt24 | 30,000 ,000 0
01 AP 22| H| 30,000 ,000 0

OMENSHE I D] 30,000
206 M = H| 30,000 ,000 0
01 X2 Hl 30,000 ,000 0

OMENSIE R A2 30,000
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B MEHGHE XX
& st zel (22 &d)
SA B ER(EN) - AR - BES of & o4 San HIDZ2
MEHSHE (Al E2 S et) 2tel 200,000 200,000 0
401 AIEBIL 2 CHEI 200,000 200,000 0
01 A€ dl 200,000 200,000 0
OMENGIE (A3 0t) 2el 200,000
AGHE FUIAY 20,000 20,000 0
401 AIEHI L 2CHYI 20,000 20,000 0
01 Al£HI 20,000 20,000 0
OAGHd HHIALY 20,000
otE MY SN2+ 68,000 68,000 0
= 34,000
Al 34,000
401 AIEHI L 2 CHYI 68,000 68,000 0
= 34,000
Al 34,000
01 Al&HI 68,000 68,000 0
Ootd M RXE=+ 68,000
= 34,000
Al 34,000
Adotd &3 & 300,000 300,000 0
401 AIEHIZ 2 HYI 300,000 300,000 0
01 A€ dl 299,000 299,000 0
OXgsotd &#ZFHl 299,000
03 Al 2 CHHI 1,000 1,000 0
OXgstd 33l 1,000
MEctd A3 2SXE 104,729 103,580 1,149
307 glztol & 104,729 103,580 1,149
02 QB AAMPEE 35,180 35,180 0
OdEictdE s &2 35,180
03 eAHNEE2SHIES 69,549 68,400 1,149
OdEiotdE A3 2 X2 69,549
=Itotd =R K2+ 410,000 100,000 310,000
= 410,000
401 AIEHI L 2 CHYI 410,000 100,000 310,000
= 410,000
01 AlZHI 409,000 99,280 309,720
O=Jtotd =XE =+ 409,000
= 409,000
03 Al€ 2 i bl 1,000 720 280
O=Jtotd R+ 1,000
= 1,000
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chel: ot el (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ot&E Gt Med| HatALY 110,000 64,000 46,000
= 77,000
Al 33,000
101 @124l 92,000 54,000 38,000
2 64,400
Al 27,600
04 JIZHHZ2XRHEE S 92,000 54,000 38,000
Oot&at7 Medl HatArd 92,000
= 64,400
Al 27,600
201 L2l 18,000 10,000 8,000
= 12,600
Al 5,400
01 At 22l 18,000 10,000 8,000
Oot&ot= MdJl HatAY 18,000
= 12,600
Al 5,400
o B E0] 22 30,000 70,000 A 40,000
206 = Hl 30,000 30,000 0
01 =8l 30,000 30,000 0
Oad BRI =0 2l 30,000
XNLSHEHH (S EA)(HSAY) 3,000,000 4,019,000 A 1,019,000
< 2,100,000
Al 900,000
401 Al HIZ 201 I 3,000,000 4,019,000 A 1,019,000
= 2,100,000
Al 900,000
01 A& HI 2,497,000 3,875,500 A 1,378,500
OXgotdEH (= &A) 2,497,000
< 1,748,500
Al 748,500
02 2teltl 500,000 140,000 360,000
OXgotd&EH (=& &) 500,000
< 350,000
Al 150,000
03 AlE SR THHI 3,000 3,500 A 500
OXgotdEH (= &) 3,000
< 1,500
Al 1,500
NSt ZH (FYEE)(HEAY) 1,050,000 2,008,000 A 958,000
< 1,050,000
401 Al HI L2 THHI 1,050,000 2,008,000 958,000
< 1,050,000
01 A& HI 941,500 1,864,500 A923,000
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HM: MEHGIE E4
ool stE e CER-ED
SN B SR(EA) - MBAY - BES 0l &t o il HDE2
CNEEEEEIEEED) 941,500
< 941,500
02 Z2ll 105,000 140,000 35,000
OXgsHE ZHI (HYH) 105,000
< 105,000
03 Al& S THHI 3,500 3,500 0
OXYSHEZH (HYH) 3,500
< 3,500
Nt HH (OIS H) (HBAE) 700,000 1,683,000 983,000
< 700,000
401 Al EHI L 2O 700,000 1,683,000 983,000
< 700,000
01 Al&HI 591,500 1,539,500 948,000
OXSHEZH (OIS H) 591,500
= 591,500
02 Z2ll 105,000 140,000 35,000
OXNYSHEFH OIS H) 105,000
< 105,000
03 Al& = Tt 3,500 3,500 0
OXSHEZH (OIS H) 3,500
< 3,500
OIS MEj=g 3,062,000 2,575,000 487,000
= 3,062,000
MENGIE =R ALY (OS &) (M EAY) 3,062,000 2,575,000 487,000
< 3,062,000
401 A& HI L 2Ol 3,062,000 2,575,000 487,000
< 3,062,000
01 Al H 2,858,500 2,371,500 487,000
OMENGHE =R A (OIS A ) 2,858,500
< 2,858,500
02 2l 200,000 200,000 0
OMENGHE =AY (OIEH) 200,000
= 200,000
03 Al& = O 3,500 3,500 0
OMENGHE =R A (OIS A ) 3,500
< 3,500
BH2YBU(RDASEAD) 64,016 59,728 4,288
2 FH (RDASTAID) 64,016 59,728 4,288
2B (ZDNSTAID) 64,016 59,728 4,288
201 B2 Y| 34,496 33,088 1,408
01 At 22l 33,496 32,088 1,408
oger+ gl 14,400
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